Recitation 10 solutions EE 3161 spring 2008

@ | Q)  LBood Dogrem 77 ////& 4
| /7‘ Ny = ///7/ /e AL g, e Pse

7. ‘ o, B 597
oVlr (4¢ ///ﬁ(ﬂggi T bys 4E Ser & 5777

019y Do s é/,,/ L, Sptte #E 2,

POty 2P bar?’ Lnpy o1 T Y

SHidvses  Uemse 2F @ FRGIE 2

. A
”?/// 7/// 7% %// ////Z%e és we s

—— /p/éz
[%*** =t /ﬂ”

V-Ep/lyléz—/""v.\
£r 7t bttt

45 “Len A Q%
') V, Q%f (Z» ‘Qf‘f/// Jyg/écﬁg{/
/ /é/,Z L A100¢
ﬁ/' % /&Vﬂf - 2 /



)

. y __ [l )0 Dl0 )3,
\/{ = Zy 4 [2?]755%V/ =

Y, = 2,77V = 94+ /93
- A/; 7 //ﬂk

I 4%& - %f*/ﬂ;g&/

78

=5 1/
ﬂi/zw/ Vi ) AN

¥ JA}///%/ ot G- A Z, Zptrw fore

0/ vohege <bort V s a&;ﬂ/// s
thE ox;0e

6. Otduni | VoV
Zew Lo
— // @3 V .5'/ 277/
g:?,r - 7L —
wo S Lo

Z‘ék; //‘Qé/k/ﬂ%




@) (= - a7 E

vz oy

b;) - Prstan ‘5t P-LpE S 57777

\, = 27 7 ;Z;jf Qgé;/é L
.1y 2 25600 N
Ve = 22200

. Nk 6" - 2o ey
V= - Q/{%/’ 5‘:/* /29 & W I
Ll/f’; -2.290

G I
/ W - }/yé// , A )8t 2 ¥
| ,_ZZ%Z .

g // G /«/7/ Y. /7)

Whor = N . //// -2 p¢
Wt 4




2.9

The - st < agple T
A4 - /e /ﬁf%«%ﬁ’ e /47’4 s
Yird-rip THhes <45 ;5 @ Z 205575
L he Py %{gégfz Caryd




	Rec10sol high-1
	Rec10sol high-2
	Rec10sol high-3
	Rec10sol high-4

